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3 ) = % % 528, 000 441, 536 86, 464
E % i & # 150, 000 4,524 145, 476
& = o & 310, 000 119, 232 190, 768
& = % 850, 000 433, 850 416, 150
& = - 210, 000 78, 988 131, 012
% e & 350, 000 291, 073 58, 927
i3 % = b - 1, 500, 000 1,552,549 | A 52, 549
% & # 815, 000 855,000 | A 40, 000
* # = -4 B 100, 000 85, 778 14, 222
1& e # 150, 000 248,296 | A 98, 296
=i o % 818, 000 600, 347 217, 653
& T ¥ # # 253, 000 241, 090 11, 910
& 1% £ 2. 281, 000 2,290,080 | A 9, 080
® B B 193, 480 220,570 | A 27, 090
# Bi 7N % 861, 920 805, 200 56, 720
= i B 772, 000 780,570 | A 8, 570
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# B TEH REHE £
B ® 800, 000 883,244 | A 83, 244
IR & = = =4 a0, 000 45, 360 4, 640
B & =4 150, 000 209, 717 | A 59, 17
# AR <4 50, 000 32,379 17, 621
& Ei7 % b7 ® 2, 000, 000 2,022,856 | A 22, 856 |
EEEME 97, 110, 650 93, 872, 943 3, 231, 707
PR 25 S A B A 2 S R SR AR 730, 975 3,034,074 | A 2, 303, 099
iR AT 0 0 0
YIREIEEE 730, 975 3,034,074 | A 2, 303, 099
2. BEENEHOR
(1) BEHINEE
& # M x £ # m & 500, 000] 0]l 500, 000]
Ty bRk vy — & BHESESS 500, 000 0 500, 000
e M i 5 4% E e ¥ OME 2, 000, 000] 500, 0001 | [ 1, 500, 000]
B % L 5 % & ¥ MmE 2, 000, 000 500, 000 1, 500, 000
RIS 2, 500, 000 500, 000 2, 000, 000
2 BENEA
# &% ®M x £ X W 4 500, 000] 500, 0001 | { 1]
Ty bhR= k2 F — & BHESHSS 500, 000 500, 000 0
& & ¥ i 5 % ¥ & X H 2, 000, 000] 011 2, 000, 000]
& % WM I 5 % B & X W 2, 000, 000 0 2,000, 000
RSN EA 2, 500, 000 500, 000 2, 000, 000
IS E R 0 0 0
FiEIRT S 1 — R E vk I AR 730, 975 3,034,014 | A 2, 303, 099
EAB., £ BB K UEEB 0] 81, 000] | [A 81, 000]
S — R IEOR R EE LR AR 730, 975 2,953,074 | A 2,222, 099
—RERMERE RS 8, 150, 628 8, 150, 628 0
—RIESR A EESIR R & 8, 881, 603 11,103,702 | A 2,222, 099
FEE IE Bk M BRI I DR
L H e E IE Ok EE MR AR 0 0 0
EEERMERERS 15, 000, 000 15, 000, 000 0
EEEWRMERRES 15, 000, 000 15, 000, 000 0
IECRETEEARTRS 23, 881, 603 26,103,702 | A 2,222,099
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201843 H 31 BEITE
(BN H)
EERERE B -HES FERBEMNE & %8
(RENEE)
& FTEE BEEA&LLT 64,103
Ee EiEES 5,808,755
WA RBITSE D E D 3,063,484
LA RSITEEREDEGD 3,692,771
KA EREESE NEFNT) 401,279
BARERITIV—2 O (KE) 98,059
LS RSBTSE D EGKRE) A2,548,014
(2,451,986)
(LIF&-& R4$R4TS—pitch (3k) 513,269
IWEEERIEA 7y R — L2 — 42,025
IIe& EIRITHERI B2 O BE (Fb) 545,882
FRILA & 4,157,028
$h& 852,840
mENEESST 10,882,726
(EEEE) ‘
B EE
EAMETES 15,000,000
K FEREESEOERL) EH 5,000,000
WA RERITSE O E (RIE) EH 5,000,000
LWeSRSITSRE DE GRE) & 5,000,000
EGE
{EHEFENIE | K TEE 2,500,000
Ty hR— e — SRS TES 2,500,000
FOMETEERE
e 4
Hé 100,000
EEGESE 17,600,004
BESE 28,482,730
(REEE)
K& 1,449,090
AiZ4& 100,000
iUk 313,838
RILTEANTSE 81,000
FILVEERE 435,100
e A ELE 2,379,028
EEAE 2,379,028
IEBRBABE 26,103,702
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